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Robert with correct working and reason

B1 for 6.5 hours or 6 % hours
M1 for 760 + 9 implied by 84[ 4]
M1 for 559 + their 6.5 implied by 86
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B1 for at least 3 mid-points seen (from 2.5, 7.5, 15, 30)
or implied by products 50,105,165,450 or 770

M1 for Zmf where m is a value within each group. Allow
use of boundaries; allow one error in calculation. If no
midpoints seen may be implied by their mf

M1 dep on previous M1 for their 770 = 60
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The highest number may not have been 40 or the
lowest number may not have been 0.

See appendix
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We don't know the speeds
The exact speed isn't given





image10.png
@ o 1s
W e

CINNE
O B for only 2 and 12 Gentied





image11.png
19 | (a) 6107 to 632.2 B2 for 1425 to 1475
or
Bifor 11410118
or
M1 for their length x 125
AND
Bt for2},2[h| 20 0r2.33...or 140 | See additional guidance
and
M1 for distance - time This calculation must be seen and
distance must be their measurement
and or their measurement x 125. You
A1FT ft for a correct answer for their | must be convinced that it is a time
length as a divisor.
(b) ‘accept any correct reason e.g_ it If more than one choose the best
may not have flown in a straight line one. Comment about distance only,
or it may have been diverted see list of exemplars.





image12.png
Entertainment

80

B1 for 480 or 560 seen or 4 x 20

For B1, could be seen on bar chart

20

240
1200

M2 for x 100 oe

Or

240
1200

M1 for oe or 10% is 120 soi

or for 17240100 6e
1200

Their 240 a value between 200 and
280 or the value 510





image13.png
7

8,8 Band 15

B2for 3 or 4 numbers with at least
two conditions met out of:

« Atleast two numbers are 8
o Therangeis7

«  Thetotalis 44

B1 for 4 numbers with one condition





image14.png
Tands

3~ | B for one comect
and
M1 for putting tmes in order isw

given values or their 8 or their 10
values e30022677.9





image15.png
13

Ml

Al

Puts numbers in order or clear attempt to find 5™ number or
(9+1)2 or selects 11





image16.png
(a)

(Men's average + women's average) + 2 oe

Accept half way between the two
masses/averages oe

or

(84 +70) + 2 0e or (84 = 70) *2 +70
oe

Allow half way between them or
midpoint or added the two and
halved

May be in stages. Condone missing
brackets

(b)

Correct reason involving distribution of
men/women or not all average

Correct example supporting their reason with

result 2 630
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8 men [0 women]
7 men 1 woman
6 men and 2 women
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69, 76, 76, 79

In any order
B3 for 4 values with a mode of 76 and a
range of 10

OR!
B1 for the sum of the 4 values is 300 soi

B1 for at least 2 values with a mode of 76

B1 for a range of 10 for their given values

Mark final answer in working if
answer line blank
Integers only for all B marks

Condone if 300 shown in working
and then theirfinal values do not
sum to 300

May be from 2, 3 or 4 values on
answer line
May be from 2, 3 or 4 values on
answer line
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but, for example, 42 + 10 (no other working)

M1AD

Method mark could be scored for work at top of page, above, but notin,
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